
G�AR$��d ---U G$tAZ�R ]BI� _�B��s8

G$tAZ�R ]BI� _�B��s8 PB� �Y� R8sjj s��sR �R�$8s�$Bt }�B}B��$Bt ZR$t� �Y� jB�$R�${

�stIB8 }jZR R}s�$sj $t���{�}� 8BI�j

' yWyqyVN zVN=e7 3!i q<e 3!=i ]<VyW7

j$R�w}Y$){wT1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(� T1(�T1(�T

1(�T1(�T1(� T1(� T1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(D� Y){wd(�d(�d(�d(�d(�d(�d(�

d(�d(�d(�d(�d(�d(�d(�d(�d(�d(�d(�d(�d(�d(�d(�d(�d(� d(�d(�d(�d(�d(�d(� d(� d(� d(�d(D�

I�j�s ) x� A��sd ) x� A��s1 ) x� A��sn ) x� �sZT}Y$ ) 1� �sZTI�j�s ) nDD

j$R�w}Y$){w(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(D� Y){w(�(�(�(�(�(�

(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(�(D� I�j�s ) (� A��sd ) (� A��s1

) (� A��sn ) (� �sZT}Y$ ) (�x� �sZTI�j�s ) (�1DD

j$R�w}Y$){wd(�d(�d(�d(�d(�d(�d(�d(�d(�d(�d(�d(�d(�d(�d(�d(�d(�d(� d(� d(�d(�d(�d(�d(�

d(�d(� d(�d(� d(� d(� d(� d(� d(� d(D� Y){wT1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(�T

1(�T1(�T1(�T1(�T1(�T1(�T1(� T1(�T1(� T1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(�T1(�T

1(�T1(�T1(D� I�j�s ) Tx� A��sd ) Tx� A��s1 ) Tx� A��sn ) Tx� �sZT}Y$ ) x� �sZTI�j�s

) xDD

j$R�w}Y$){wTd(�Td(�Td(�d(�Td(�Td(�d(�Td(�Td(�Td(�d(�Td(�Td(�d(�Td(�d(�d(�Td(� d(�Td(�Td(�T

d(�Td(�Td(�Td(�Td(�Td(�Td(�Td(�Td(�Td(�Td(�Td(�Td(D� Y){w1(�1(�1(�1(�1(�1(�1(�1(�1(�1(�

1(�1(�1(�1(�1(�1(�1(�1(�1(�1(�1(�1(�1(�1(� 1(�1(�1(�1(�1(�1(�1(�1(�1(�1(D� I�j�s

) d(� A��sd ) d(� A��s1 ) d(� A��sn ) d(��sZT}Y$ ) dx� �sZTI�j�s ) dDD

' �!*eN 7_e]y3y]Vqy!W

8BI�j \

I�j�s � I4s�wD

A��sd � I4s�wD

A��s1 � I4s�wD

A��sn � I4s�wD

�sZT}Y$ � I�s88sw�R�s�� IR�s�D

�sZTI�j�s � I�s88sw�R�s�� IR�s�D

' �R�s� stI IR�s� s�� R}�{$h�I $t Is�s hj� sR �R�s�)(�x stI IR�s�)(�(((x

}Y$>dUn;H� {s��tB�8sjwsI`>H� b�$�Y�R>H� tZ8>H� �sZT}Y$D

PB�w$ $t dUn;D\

I�j�s>$H � ItB�8wI�j�s(� �sZTI�j�sD

i

PB�w$ $t dUn;D\

PB� w` $t t>$HLdUt>$LdHD \

jB�$�w}$>`HDc � I�j�s>$H L }Y$>$H L A��sd~-d>`H L A��s1~-1>`H L A��sn~-n>`H



k>`H � IA$tw}$>`H�dD�

i

i

' z>7L dH� z>7H ) z7 T

' 7�VNN VieV e7qy�Vqy!W _i!]e*=ie

PB�w$ $t dUn;D\

PB�w` $t tP>$HLdUtP>$LdHD \

}$P>`H c � w�-}wI�j�s>$H L }Y$>$H L A��sd~-Pd>`H L A��s1~-P1>`H

L A��sn~-Pn>`H DD\ wdL�-}wI�j�s>$H L }Y$>$HL A��sd~-Pd>`H L

A��s1~-P1>`H L A��sn~-Pn>`H DD�

kP>`H � IA$tw}$P>`H�dD�

i

i

' }$P� kP s��� ��R}�{�$%�jk� �Y� }��I${��I %sjZ�R BP $7i� r7i� �w7iD b; XXX�

?W>>iH ) ?7i �w7iD b; XXX, > ) d, 1, n, stI zW >7L dH� zW >7H ) ]7 � z7

PB�w$ $t dUn;D\

�Y��s>$H c � wRks>$H L RZ8wkP>tP>$HLdUtP>$LdHHDD\W>$H�

i

i

' Xry>7H )
�

i;X7
r7i

' �!*eN ]<!y]e �eV7=ie�eWqUpwjD

PB�w$ $t dUn;D\

I$&>$H c � �Y��s>$HT Rks>$H\wt>$LdHTt>$HD

p>yH c � $t}�BIwI$&>H� I$&>HD

pj c � RZ8wp>HD

i

' qY� }�tsj�k PB� 8BI�j {B8}j�-$�k _wjD $R {sj{Zjs��I BZ�R$I� �Y� G$tT

AZ�R }�B��s8 ZR$t� �Y� }BR���$B� %s�$st{�R BZ�}Z�

1



3$�Z�� dU _BR���$B� I$R��$AZ�$Bt BP �Y� R8sjj s��s }�B}B��$Bt w�7D� �Y� sZ�B{B���js�$Bt PZt{T

�$Bt� �Y� ��s{� BP �Y� �]�] {Ys$tR� p�j8st stI  �BB,Rwd��MD {Bt%����t{� }jB� PB� �Y���

R�j�{��I R8sjj s��sR� BA�s$t�I Ak �Y� �stIB8 }jZR R}s�$sj $t���{�}� 8BI�j�

G�AR$��1 ---U *$s�tBR�${ ��s}Y${R

n



3$�Z�� 1U _BR���$B� I$R��$AZ�$BtR BP �Y� R8sjj s��s }�B}B��$Bt

0.0 0.1 0.2 0.3 0.4 0.5 0.6

0
20

00
40

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 1

0.0 0.1 0.2 0.3 0.4 0.5 0.6

0
20

00
40

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 2

0.0 0.1 0.2 0.3 0.4
0

10
00

25
00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 3

0.1 0.2 0.3 0.4

0
10

00
25

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 4

0.0 0.1 0.2 0.3 0.4 0.5 0.6

0
20

00
40

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 5

0.1 0.2 0.3 0.4 0.5 0.6

0
20

00
50

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 6

0.0 0.1 0.2 0.3 0.4 0.5

0
20

00
50

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 7

0.1 0.2 0.3 0.4

0
10

00
25

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 8

0.05 0.15 0.25 0.35

0
10

00
30

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 9

0.1 0.2 0.3 0.4

0
10

00
30

00
E s t im ates

Fr
eq

ue
nc

y

Small A rea = 10

0.10 0.15 0.20 0.25 0.30 0.35

0
20

00
40

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 11

0.1 0.2 0.3 0.4

0
10

00
30

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 12

0.05 0.10 0.15 0.20 0.25

0
20

00
40

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 13

0.05 0.15 0.25 0.35

0
20

00
40

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 14

0.3 0.4 0.5 0.6

0
10

00
30

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 15

0.1 0.2 0.3 0.4

0
10

00
30

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 16

0.10 0.20 0.30 0.40

0
10

00
30

00

E s t im ates
Fr

eq
ue

nc
y

Small A rea = 17

0.1 0.2 0.3 0.4 0.5

0
10

00
25

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 18

0.2 0.3 0.4 0.5

0
10

00
30

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 19

0.1 0.2 0.3 0.4 0.5 0.6

0
20

00
50

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 20

0.2 0.4 0.6 0.8

0
20

00
40

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 21

0.1 0.2 0.3 0.4

0
10

00
30

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 22

0.1 0.2 0.3

0
20

00
40

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 23

0.0 0.1 0.2 0.3

0
20

00
40

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 24

0.1 0.2 0.3 0.4

0
10

00
30

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 25

0.1 0.2 0.3 0.4

0
10

00
25

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 26

0.2 0.3 0.4 0.5

0
10

00
20

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 27

0.1 0.2 0.3 0.4

0
10

00
30

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 28

0.1 0.2 0.3 0.4

0
10

00
30

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 29

0.1 0.2 0.3

0
10

00
30

00

E s t im ates

Fr
eq

ue
nc

y
Small A rea = 30

0.15 0.25 0.35

0
20

00
40

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 31

0.10 0.20 0.30 0.40

0
10

00
30

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 32

0.2 0.3 0.4 0.5 0.6 0.7

0
20

00
40

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 33

0.15 0.20 0.25 0.30 0.35 0.40

0
20

00
40

00

E s t im ates

Fr
eq

ue
nc

y

Small A rea = 34

;



3$�Z�� nU qY� sZ�B{B���js�$Bt PZt{�$Bt BP �Y� R8sjj s��s }�B}B��$Bt

x



3$�Z�� ;U q�s{� BP �Y� R8sjj s��s }�B}B��$BtR PB� PBZ� {Ys$tR

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 1

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 2

E
st

im
at

es
0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 3

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 4

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 5

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 6

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 7

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 8

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 9

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 1 0

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 1 1

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 1 2

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 1 3

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 1 4

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 1 5
E

st
im

at
es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 1 6

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 1 7

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 1 8

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 1 9

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 2 0

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 2 1

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 2 2
E

st
im

at
es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 2 3

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 2 4

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 2 5

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 2 6

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 2 7

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 2 8

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 2 9

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 3 0

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 3 1

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 3 2

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 3 3

E
st

im
at

es

0 20 40 60 80 100

0.
0

0.
4

0.
8

Small A rea = 3 4

E



3$�Z�� xU p�j8st stI  �BB,R I$s�tBR�${R PB� �Y� R8sjj s��s }�B}B��$Bt AsR�I Bt PBZ�

{Ys$tR

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 1

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 2

0 20 40 60 80 100
0.

6
0.

8
1.

0
1.

2

Small A rea = 3

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 4

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 5

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 6

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 7

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 8

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 9

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 10

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 11

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 12

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 13

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 14

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 15

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 16

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 17

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 18

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 19

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 20

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 21

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 22

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 23

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 24

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 25

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 26

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 27

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 28

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 29

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 30

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 31

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 32

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 33

0 20 40 60 80 100

0.
6

0.
8

1.
0

1.
2

Small A rea = 34

�


